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You have been called for the written test based on the online data fumished by you in the web application._If you have
wrongly entered any information in the web or you do not possess the required qualification as per our advertisement,
your candidature will be rejected.

2. 9eT gTar 7 dieis oy 3ufeufa #F &) gt efa-Ree W gEamei Fa aifeu|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3. URH-UH, 80 TRAT A Jered TRA-Gf e o ®U AT 3R adiem dr @fr 02 € § |

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4. 9N F IR oot AT gulr 9fd wfed 3rerer AR Sear-gfeaen & smeef

A separate OMR answer sheet with duplicate will be provided to mark the answer options.

5. UAF W HTAT 04 3% @ 3R YRS T IcaT FIAT UF 379 FeT T |

Each question carries 04 marks and one mark will be deducted for each wrong answer.
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maﬁmﬁﬁﬁaqmgﬁaﬁrwaﬂgmmmﬁfﬂm TR Feay gReae W Aféve T 9

o= AIfg vl
Question booklet series code (A/BIC/DIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.

q&a-gﬁamﬁmwmma@wﬁaﬁﬁﬁl
Enter your Name and Roll Number correctly in the question booklet.

mmw.mﬁmqﬁmmmmnhmwwﬁmml

2

All entries in the OMR answer sheet should be with blue/black ball point pen only.

wﬁmuﬁaa@ﬁﬁma:maﬁﬁﬁmﬁ@mﬁmﬁwmﬁaﬁ@W|

The questions will be objective type with four options out of which only one will be unambiguously correct.

m,m-gﬁaﬁrﬁmma@a%ﬁ#wm,mmzmﬁ%ﬁaq@tﬂﬂﬁmw-
mﬁﬁmmﬁmmaﬁmmwmﬁi

2
You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

T W2 & ToIT 31 Sccd ITeid AlAT AT |

Multiple answers for a question will be regarded as wrong answer.

mmm#*m_mﬂﬂﬁwm
A

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall.

qﬁmqﬁﬁﬁw.sﬁmmm-@maﬁw&%ﬁmﬁmmaﬁaﬁmmgﬁaw
1 frerer o whY e @) wiY T I T

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original

- OMR answer sheet to the invigilator and retain the duplicate copy with you.

ma.wmmwwmm

The question booklet can be retained by the candidates.

qﬁw%mdﬁﬁmmaﬁmﬁamﬁﬂﬁﬂﬁaﬁ%l

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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YARIATAT FHATT - T (1291)/Lab Technician — A (1291)

TarEey fr aReTST H AT enfAer Bl
The definition of health includes which of the following :

(a) IR® TAEEA/Physical health
(b) HITRI® TAHZI/Mental health
(c) ITHITAS T@RZA/Social health

(d) 39hwFd FMAL of the above

PrffRa faat 3 & Rrae seee @ I 3
Which of the following diseases has been eradicated :

(a) dT9/Small Pox

(b) FIRAT/Malaria

(©) @I"-‘EWFQ‘ISQ?IT/Leptospirosis-

(d) ST o TeAwIfafed/Japanese B encephalitis

T gAETer ey defaw & w9 A, UST &AT JHTIhT FIT ¢

As a laboratory technologist, it is your job to provide :
(2) IHARS ROAIE/Timely reports

(b) T RNOré/Accurate reports

(c) #g dal/Courteous service

(d) 39GFT TIMALL of the above
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Wﬁaﬁﬁaﬁaﬂa%mﬁﬁﬁmﬁ@ﬁﬁ@m—wwaﬁmm/

To treat an Acid burn which of the following is not advisable :
(a) I TAdT qre/Clean running water
(b) 5% TRTH Fraae

5% aqueous sodium carbonate
(c) IO BIgIeFellNG 37Fel
Dilute Hydrochloric acid
(@ 3‘51'2‘51:'?(-[ & & FI$ AS1/None of the above

AT FAT B B A FT H carT eEiea fman ST arfeTl
Gowns and linen should ideally be sterilized by :

(a) 3iCIFeld F=AT/Autoclaving

(b) TS T B/Chemically

(c) A FAT/Dry heat

(d) EQ'éél,?H # & ;S A€/None of the above

PrfEg & ¥ FA-G7 UF ASHIERT FH AT A6 87

Which of the following is not a part of a microscope:

(a) SATAHI/Eye piece (b) I/ Vibrator
(c) ¥TB/Stand (d) FS=aY/Condenser
Shad ¥ T GreRoTaaT & fauarer wdifed EFFV QAT el bl

ST &/Phase contrast illumination is often not used for live :

(a) ﬁﬂﬁﬂ fafsa/Cholera vibrios
(b) HAARTS RIS/ Malarial parasites
(c) feAAA/ Trichomonas

(d) 3rATEAT/Amoebae
4 1291/16



10.

11.

gfadiea gereslt 7 @ia-a werer &1 suder fRar siar 872

Which light is used in Fluorescence microscopy :

(a) 3fa¥Fd 91U Infra-red light
(b) URT I YRR/ Ultra violet light
(c) %G WehIRl/White light

(d) FA TerN/Sunlight

A AT HIF-8T AR HT TG agsh 872
Mary Malon is a healthy carrier of which disease :

(a) TIZWHISS/Typhoid
(b) I&ATN/Tuberculosis

(c) QEF@'QGIT/Inﬂuenza
(d) ¥ w/Bird flu

MRSA # M &T Adds F4T £2/In MRSA what does M stand for -

(@) ASFHA/Medical

(b) HSshIETATA et/ Microbiological
(c) AAAEF/ Methicillin

(d) HFAEHSFEIRTA/ Mycobacterium

¥ TgEr, et aor 9 3o & ReiHetor #r gafcam ufsear

~ o !

The best way to sterilize test tubes, pipettes and petri dishes is :
(@) ded ag 3iTa@=1/Hot air oven

(b) fEsamsAUA/Tyndallisation

(¢) 3<TeA=/Boiling

(d) o & 3R $T9/Steam under pressure
5

gl
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12.

13;

14.

1.

16.

%n@ﬁa@eﬁ%@mqﬁt(mammmmmw

The term international unit (U) is used to express the value of :

(a) TUSASISH/Enzyme (b) a{\ﬂ'ﬂT/Urea
(c) A=A/Sugar (d) frarfefaa/Creatinine

PCV & &la-8 ujﬁf # Rore fRaT STaT §2/In which unit, PCV is reported :

(@ &.#A/mm (b) A.H/em

© % (d) A.A/EE/mm/hr

500 fA.far. & w7 FqF ScHSA A e Tl

Urine excretion less than 500 ml is known as :

() 3RV Anuria (b) SFERANocturia

(c) uiferIRATPolyuria (d) 3NARRA/Oliguria

e 1.010 & e R v & 73 & FEd ol

Urine with fixed specific gravity of about 1.010 is known as:

(a) Flgmﬁﬂﬂ? FA/Hyposthenuric urine
(®) ﬁmﬂﬁ? HA/Isosthenuric urine

(c) BREREAIRS FA/Hypersthenuric urine
(d) E’{iﬁ-"ﬂ' # A ;S AE/None of the above

Tl 77 # FFERET @ gAarer Jgur
7 ST § 9T
Bacterial contamination of stale urine causes alkalinization due to :

(a) T@\ﬁ? &l g/Loss of glucose
(b) IRAT FT AT #F gRadsi/Conversion of urea to ammonia
©) W‘{iﬁﬁ gIAl/Both of the above

(@ 3TEFT H @ FI$ FL/None of the above

¥ FROUT &THIFIOT HT HROT
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17.

18.

19.

20.

309 300 mg/dl T & oI UodfAed & Schole

Excretion of albumin between 30 to 300 mg/dl is known as :

(a)
(b)
(©
(d)

Hﬁaﬁﬂﬁﬁ@ﬁ?ﬂ/MicroaIbuminuria
ma?jﬁ'ﬂTIProteinuria

?Fl'l'ﬁ'»ﬂ'ﬂ'ﬂﬁTIT/Glycosuria
B'Q'{ifl?-r H ¥ HIS AEI/None of the above

FI 9T 9 & fow vfels &7 gdietor fFar smar &

Ehrlich’s test is used to detect :

(@)
(b)
(©)
(d)

R ganr faufeia Sfoee

fOca @qui/Bile salt
e guis/Bile pigment

AT AAST=/Urobilinogen
sq'ej,a%r /Al of the above

Calcium discharged by the body is excreted via :

()
(b)
©
(d)

Hel/Stool

#A/Urine

(a) AT (b)/(a) and (b)

B'Q'égﬁ H q FIT A€/ None of the above

sTfaarea GaRT YiErca®ea &I A fhar Jar g1

Thromboplastin is released by damaged :

(@)
(b)
©
(d)

3/ Tissue

Telceic/Platelets

() T (b)/(a) and (b)

3"11'{13? H & I FAEI/None of the above
7

& ATH O ST AT g1/

F #AeIH § 3cafora A smar g
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21.

22.

23. VMA T QUi &9 @1 §2/Whatis the full form of VMA :

24,

(2)
(©)

AR 37 & Tod THEOT § WY I A AT pH

High uric acid concentration plus low urine pH may lead to :

(2)
(b)
(©
(D

(a)
(b)
(©
(d)

Fﬂf&meﬁﬁ 31FaI/Nucleic acids

GIYUHT/PUFA (d) UTHIUHU/MUFA

(b) Y AHFA/Fatty acids

e 3Fer T/ Uric acid stones
AT fAegd/Fanconi’s syndrome
IR HT G/ Kidney failure

s @Al of the above

ARfrer A% 3/ Vanillyl Mandelic Acid
&4 AR 3F/Vani Metanephrine Acid
AMfea Afd 3ra/Vanilly Melic Acid

3 ASAX 31Fel/Vani Miner Acid

%WW%WWWWWW%I

Uric acid formation occurs as a result of the metabolic breakdown of :

T FIOT &1 Tehall g1/

#F scaifold VMA X 9T ST /Elevated VMA levels are found in :
(a) Q?Igtﬂmlgaﬂm)haeochromocytoma
(b) Fq@mﬂTINeuroblastoma
() ﬂ\:ﬁ‘(q?ﬂ?‘{{’fﬂmlGanglioneuromaS»
(@) 3udEd FHAL of the above
8 1291/16



25

26.

27.

28.

TTHBIT HT WURT gaF Sgall

Normal Renal threshold for Glucose is :

(2)

i@ # Hia-a1 3Reees 3T NS §?

Which of the following is nonpathogenic intestinal protozoan :

UscHISET §eH7/Entamoeba hartmanni
TecAssT fgEeifafeshl/Entamoeba histolytica

(a)
(b)
©
(d)

HARAT & Fafla fohg Wellg & aR-IR Taenler AT gar &7

Which malarial parasite frequently has accole formation :

180 mg% (b) 150 mg%

SranfEar dfseran/Giardia lamblia
drdliecisdH Freil/Balantidium coli

i FEa £

(a) P.faaera/P.vivax

(b) P.W/P.falciparum-

(¢) P.HAART/P.malariae

(d) P.3fgel/P.ovale

O %A @ giarer dguoi &

Pin worm infections is also known as :

(@) UeeAFATIaA/Enterobiasis

(b) TTSFRATE/ Trichuriasis

(c) ITHIRATTEA/Ascariasis

(@ g fAa@d/Ancylostomiasis

1291/16



29.

30.

al.

32.

fA=faf@a # Fi9-8 s [T F FRT §2
Which of the following causes Hydatid cyst :

(@) TreleifRA ﬂngDiphyllobothrium latum

(b) TH. STAI/H. nana

OBRYEGIEIEET ] a@ﬂﬁqﬂlEchinococcus granulosus
(d) sfAAr WfeT#/Taenia solium

EDTA & QUT &9 &7 §?/What is the full form of EDTA :
(a) vfdNe srnfA= ¢er- vafew vfas

Ethylene Diamine Tetra — Acetic Acid

(b) TR 315 dwar vafed s
Ethylene Di Toxo Acetic Acid

() TUAAAr 35 &or vafes vfa
Ethylamino Di Tetra Acetic Acid

(d) 3‘5!133—?!' H ¥ #I$ A61/None of the above

EDTA ¥ w7 & F1F FaT $I/EDTA acts as a -

(a) Hrelea/Chelating agent

(b) FGH/Coagulant

(¢) (a) T (b)/(2) and (b)

(d) 3"1{5}?1’ H ¥ $Ig F61/None of the above

FAY & AAT R EDTA HIRIFRT repfafa=er s

Atroom temperature EDTA preserves cellular morphology for :
(@ 2 ¥ 3 ©e/2to 3 hours

(b) 5 ¥ 10 ©/5 to 10 hours

() 10f&=/10 days

(d) 5 %=/5 days
10

deh 91T I@ar g1/
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33.

34.

53

36.

BIATANTS &1 Hgequl F1 SaATSWState the important function of Haemoglobin :

(a)
®)
(©)
(d)

areel #1 Al SAeafaa

FTel=T STSHFASS HT IREg/Transportation of Carbon dioxide
JTeFETSTeT T YREgeI/Transportation of Oxygen

FRAHIHT 1 FHATOBuilding of cells |

hIfART3T FT FFHI/Repairing of cells

# gRafdd = 9T 3mfa

Sahli’s method is based on conversion of haemoglobin to

(a)
(b)
(©)
(d)

3{FeT gATTEST/Acid hematin
FA gHTCIFATIA/Acid hematoxylin

?ﬂﬁmﬁ?ﬂHematoxylin
8T gHIfe/Alkali hematin

dd HIRHBT 7 FoT FI3C H SecgdiEl T Fel HEAT FT AT
gIaT &1/ Total white cell count is the estimate of the total number of WBCs in

(2)
(b)
©
(d

W fAeelldIe/Cubic millimeter
El’*’fl)ﬁil? HATSHIFATEY/ Cubic micrometer
Aeelr HeY/Milli meter

3‘!13'5?-[ A A FI$ 7AEI/None of the above

3T Fel Ssegardl FISC Yeg F GRS B

High total WBC count is termed as

(@)
(b)
(©
CY

ﬁﬂﬁﬁ'ﬂﬁ'ﬂTILeucopenia
ﬁ'ﬂﬁﬁﬂ'@ﬁf@ﬁ/ Leucocytosis
SIS AW/ Hy percytosis
BTSSR/ Hy pocytosis

11 1291/16



37.

38.

39,

40.

FIAT3Y & HET H Cocolel HT I # & A ¢
On Neubauer’s chamber platelets are counted in

(2) 5 3TREAT F91/5 RBC squares
(b) 4 SSegSIT T34 WBC squares
(c) 8RR gd1/8 RBC squares

(d) (a) T (b)/(a) and (b)

faF wAcaT F3¢ A FEd &1/Low platelets count is termed as

(a) UErEEeIdAAT/ Thrombocytopenia
(b) a’iaimﬁvlTh:ombocytogis

(c) BIBURATSCIAA/Hypercytosis

(d ml Leucocytosis

ESR T qUT &9 &7 §?/What is the full form of ESR?

(a) UREEE AfsAEAA Ie/Erythrocyte Sedimentation Rate

(b) TRYAET TWRARGF I/Erythrocyte Specific Rate

() TtRYEEe aftAcy= {RANErythrocyte Sedimentation Ratio
(@) vRYEEe TRAfRE IRAAErythrocyte Specific Ratio

IR &7 Saa-FIel =T §/What is the life span of RBC?

(a) 120 &s1/120 days (b) 145 /145 days
(c) 8T=/8 days (d 10 %F/10 days
12 | 1291/16



41.

42.

43.

44,

RS #H F7dT §1/Erythropoietin is formed in

(2)
(b)
(c)
(d)

IRCT/Kidney

3 FSST/Bone marrow

() T (b)/(a) and (b)

3TI'§?FI' H d HIS 181/None of the above

AT & Tgel Rl T1gs & TURIEROT & ST fhU Siararer weriey

Fixative used to fix a slide before staining

(@)
(b)
(©)
(d)

yFErar HFd Hder Uedhgld/Acetone free methyl alcohol
TYATe/Ethanol

IMSAITer YehgTel/Isopropyl alcohol
3'C|'~’:5;¢'_cf H & FIS AE/None of the above

G6PD T Ul &9 T §2/What is the full form of G6PD?

(@

(b)

(©)

(d)

TR IN-6-BIhe - SRS gISTH
Glucose-6-Phosphate-Dehydrogenase
TEHIH-6-BIAHH-SETSG T H
Glucose-6-Phosphorus-Dehydrogenase
TTHIH-6-HraFSe-SEEaIST=d
Glucose-6-Phosphite-Dehydrogenase

3tl'{17=l~?l' A '@I’Hﬁé’ Ae1/None of the above

HAUT FT FT TERYT Geaf g fraem 7

What is the normal reference range for bleeding time

(a)
(b)
(©
(d)

1 & 6 fAae/1 to 6 minutes
1 & 10 fAIE/1 to 10 minutes
5 q 8 fA=I/5 to 8 minutes

5 & 12 fA=C/5 to 12 minutes
13
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45.

46.

47.

48.

APTT &0 ot &9 T &7/ What s the full form of APTT?
(a) TUlFcdes UiiRiger Yiacd¥est esA

Activated Partial Thromboplastin Time
(b) TUlFcdes MR difasT ¢&¢
Activated Proper Thrombin Test
(c) vUHIEs e giecafeesT ¢
Assorted Partial Thromboplastin Test
(@ UtawEs Tt diecdRed aga
Amplified Partial Thromboplastin Time

gifereidels Tarssie (dSsi) %Wﬁugwﬁmmﬁ?ﬁﬂgﬂ?ﬁ%l/

Polyethylene glycol (PEG) is a water soluble polymer used as an
(@ wiAel 3eagor & Fel g TS

Additive to increase the antibody uptake
(b) SIS 3eIETT Y dEe 3 WA
Additive to increase the antigen uptake

(©) 3udwd &i/Both of the above
(d) E’%‘W H & FIS AEI/None of the above

dreaes Aol 38F W F dA-ER & w" % d& A gl
CSF sugar is about % lower than the corresponding blood sugar level
(a 10%-20% (b) 20%-30% (c) 30%—40% (d 60%—70%

GG F T el cafFd A g w1 FET fRaer 82
What is the sperm count of a person who has undergone vasectomy?
(@ 5 et gfa fAeelr ofict/5 million sperms per milli liter
(b) 15 garereT ufa Aeelr eife/15 million sperms per milli liter
(c) 25 gareeT ufa Aeelr #iex/25 million sperms per milli liter
(d) YT Y gfa Aeelr efle/zero sperm per milli liter

' 14
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49. fArfaf@T & @ 5% N gAFT B2Rar sia-dr 22

50.

51.

52.

Of the following, which is the normal consistency of sputum :

(a) YNIGR/Purulent (b) WlMuoopuru]ent
(c) % JUT FAAF/Clear and watery (d '\ﬁilqo%?arE/Seropurulent

TUHST FT 9T o6 & AT Aa-Aredr (315ea) o1 & ARfAa-=@a (vam) aer
FaT SgR 82
Why is Auramine — Rhodamine (AR) stain better than Ziehl-Neelsen (ZN) stain for detecting AFB?
(a) UHAR T 3refa=1ers Sffeh = fwrar &1
AR stain shows non-viable bacilli
(b) |UT MY A AT ST (THRA10) mwwwﬁmmmmm
The entire smear can be screened at the low power (X10) objective
(©) @mmmﬁﬁﬁﬁmméﬁgﬂmmﬁm
Tso3fE RN A 3w TUse ®T @ e R B '

The black background in fluorescent microscopy makes the bacilli stand out sharper to allow
more rapid and accurate slide screening

(d) 3TdeFT WAL of the above

AR # 3fPUd TR WE TASH HiA-AT 87

Which is the most prominent enzyme present in saliva?
(a) foOT&/Lipase
(b) AT/ Amylase

(c) oFeE BIgTSsIsiaid/Lactate dehydrogenase
(d) &I WwE%hed/Alkaline phosphatase

.

GTT &I 9gell T fohger {5 £7/What does first T in GTT stand for :

(@) <T¥T/Test (b) CreR=d/Tolerance
(c) <TISA/Time (d) EqI=d/Turbulence
15 1291/16



53.

54.

55

56.

57.

58.

59.

aifergRaT, difafRiREr, HR-TsT T FRRTasaIHAar g ———— & 3 §d &l

Polyuria, Polydipsia, weight loss and hyperglycaemia are often associated with :

(a) BIRU3RAITerdHA/Hyperadrenalism (b) W@W/Hyperpituitarism
(c) srEfew Afedcd/Diabetes mellitus  (d) 3ag faTshadl/Hyperthyroidism

3qaTE 9% & & Dol B e Fa &, Twd FW g W e sgidd wr AYRE @

eft AT Sar g7 |
What is the fasting blood sugar level above which a person is diagnosed as a diabetic :

(a) 110 mg/dl (b) 120 mg/dl (¢) 126 mg/dl (d) 80 mg/dl

NIDDM # [ f&haehr @ §?/What does I stand for in NIDDM ?

(a) SFHITSTC/Immediate (b) ﬂﬁﬁllnsuﬁn

(c) Bd TeTe¢ [ gd/Instantaneous (d) sfesdsaec/Independent
HbA 1c Rroe fraa el & @ & Dol & =0 & g a=ar &
HbA 1c indicates the blood sugar control over the past days ?
(a 30 (b) 60 . (). 120 (d) 200
T QReTSTeeeT A IFReYd &

Urine urobilinogen is absent in:

(@) TR & gﬂﬂ $R/Impaired liver function

) 3itwer 9Ra SR f3aweRE/Drug induced liver dysfunction
(c) Fqot feq-arfg=lr aTem/Complete bile duct obstruction

(d) ﬂET f@=31H/Rotor syndrome

qﬁﬂﬁﬁ%aﬂnﬂgmaﬂa—ﬁ%ﬁ?

What are the basic components of Photometer?

(a) ORI Fd/Light source (b) Trec/Filter
(c) QIfUIRT/Cuvette (d) 3udEd THVAL of the above

2

¥R T 37TOT HIATLIA PleA-TT §
Which is the good cholesterol in the body ?

(a) THSIT/HDL (b) dTASITA/VLDL
(c) TeSITA/LDL (d) CIBREERISZa/ Triglycerides
16 1291/16



60.

61.

62.

63.

64.

65.

e ST ¥ 3 soarg # el ST &l

The end product of Purine metabolism is called as :

(a) IR 3Fel/Uric acid (b) TRaTfefa=/Creatinine
(c) hIed¥clcl/Cholesterol (d) TISTTeTaRISs/ Triglycerides

# FERIZE & °E AT TR UIT AT B

Decreased levels of Chloride are found in :

(a) 37T STelA/Extensive burns (b) I/ Vomiting

(c) SRARADiarrhoea (@ 39gFd FVALL of the above
IR H 3ATIT g SATar §l/Iron is absorbed in :

(a) ©IET 379/Small intestine (b) IRcT/Kidney

(¢) TSIR/Liver (d) 3T 379/Large intestine
CATSHT H AE Teligicll @ olgT ATeg g ¢

In the plasma, iron is bound to a globulin called :

(a) TN/ Transferrin

(b) BRI/ Ferritin

(c) (a) AT (b)/(a) and (b)

(d) 3’@3’&' H & FIE FAE/None of the above

#fAAE TR & 3ol 8 FUROTE: I fafer sla-dr &2

Which is the method used commonly in estimating amylase level?

(2) <asEARE AR/ Turbidimetric method

(b) e 3araR faf®/Direct substrate method

(¢) (a) T (b)/(a) and (b)
(d) 3"3!?:‘!,3-?[ # ¥ #E FAE/None of the above

GRTRIET # IOTcHE JAT Ied F g RERer & Sarel Fafed# afde oTar
ferior gfshar wia-ar g2

What is the best daily quality control procedure recommended for qualitative and errorless working
in lab?

() ol & &) TR FA-A-F7 A & we IR AN fFT I A1gTI/Two levels of

controls should be assayed at least once a day
(b) 3T GABTOT & IR TATG/Run patient tests two times

(¢) (a) TUT (b) &I=AI/Both (a) and (b)
(d) 3@3&?—!’ & @ #T FE€1/None of the above
17 1291/16



66.

67.

68.

69.

70.

L

oI v 3eEamerR vaesa § S el gur crefPaasst @

gRafdd #ar &l

Lipase is a pancreatic enzyme that changes fats and triglycerides into:
(2) WY vRAs/Fatty acids

(b) TFeradet/Glycerol

(¢) (a) 4T (b)/(a) and (b)

(d) 3'CF{1'¢'T-|' H & FIg AEI/None of the above

RT3 d @RA Aifead T fraer &2

What is the normal average serum sodium level?

(a) 125-135mmol/L (b) 136—145 mmol/L
(c) 146 - 155 mmol/L (d) 156-165 mmol/L

fAfafaa & @ Fia-d@r aferah dosil ufafear @ @&5fg &

Which of the following antibodies is related to allergic reactions?
(@) IgG (b) IgA (c) IgM (d IgE

T g9 AUROT 5T 9FR #T 9qET0T 2/ What kind of a test is blood grouping?

(a) I IATHMYT/Complement assay (b) 3TeYUT/Agglutination
(c) F9i/Flocculation : (d) 37'_"5!\?# f?‘q—?‘f\‘\’l?-l'/Immuno diffusion

et Feelr 1S gfietor R yeR FT aderer ¥

What kind of a test is pregnancy card test?

(@ I IATHMYeA/Complement assay

(b)  3TAYUT/Agglutination

(c) 9fa/Flocculation

(d) 3?:?11\?-!’[ SHIATCIATH/Immuno chromatography

SECIST TSI LY eI &FE THR 1 qeqor &7

What type of test is Estrogen progesterone receptor study?

(a) Wﬁ@ﬁ?@' I&T0T/Immunohistochemistry test

(b) 3TRAYUT/Agglutination
(c) FUTA/Flocculation
(d) smﬁr SIFATCIAITRT/ Immuno chromatography
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72,

73

74.

T3

76.

AfRfeT &1 gar e & fov fFr g Fafef@a 7 3 Fia-9 afieqord dRaT Fr

aa Afewae safaa §

In which of the following tests for diagnosing syphilis is heat inactivation of the serum required?

(a) URETT dEI3RUS I&T0T/Conventional VDRL test
(b) TFC UfASTA/TRUST antigen

(c) ofeTFT HTIAVUT URI&TUT/Latex agglutination test

(d) EdiTau/TPHA

farfaf@a & #la-d & T 9 a8 8

Which of the following is not an endocrine gland?

(@) 37STAA/Ovaries (b) TTTH/Testes

(¢) @R #AfA/Salivary gland (d) 3Fag AT/ Thyroid
dere FHica AMA & AH H AT S g

The section cutting machine is known as :

(a) HATSHICIH/Microtome (b) feTArHATE/Histomat
(c) fE¥eIe/Histocut (d) TEEeIBIA/Histoform

RIRIFIAA & AT AT &I A IR FRAT TUT 901 TR, Fifh
Smear should be prepared and fixed immediately for cytology because :
@ 3rIfewa HIREAT g IR g s g
Exfoliated cells degenerate rapidly
(b) 3fewra HIRNFT affa g T g

Exfoliated cells may be blown away

(c) IR A FEel FRE A s @ar §
The nuclei of the cells get extruded from the cell

@) FRFE FOFar F1 FFT e gl

Cytoplasm develops granularity

Ifwar sFaREmt @ 9 & v 3mee pH 7o fnaer &2
What is the ideal pH value for growth of most of the bacteria?
(@ 72-76 (b) 68-72 (c) 7.6-8.0 (d 80-84
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77.

78.

7

80.

N GgAA & forw e g fafer @ 3w R ST B

Hanging drop method is used to identify :
(a) SFARAT &7 3MHR/Size of bacteria

(b) SFERAT A Afaefrerar/Motility of bacteria
(c) dFaRar & W/Shape of bacteria
(d) SFEARAT & W/Colour of bacteria

PPD T YUT &9 3T §2/What is the full form of PPD?

(a) Qﬂﬁ?ﬁﬂ' Q‘I'\ﬁ'qv"lé'.? iéeT 3RaEa/Tuberculin Purified Protein Derivative
(b) dfewEs X sRAd@/Petrified Pure Derivative

(¢) YURFEEs WidlT 3RAEG/Pasteurized Protein Derivative
(d) Weleics W& 3RAEIa/Percolated Protein Derivative

AlAdl & 46 IORLH Bl &, oo & A faerera fnar Sirar g

Human beings possess 46 chromosomes divided as :

(a) 44 3{1%4?1'\143 aar 2 forar IUTHA/44 autosomes and 2 sex chromosomes
(b) 46 ij/% autosomes

(¢) 40 34%?1'\33 aur 6 foer IOTHA/40 autosomes and 6 sex chromosomes
(d) 3'@_-‘!33—?[ H ¥ FI$ AEI/None of the above

ofelfeldh sHagR A Tl SATGT Ggad TR Hi-a1 §?

Which is the most commonly used fixative in clinical practice?

(2) 10% dTET 33T IR WIATTA/10% neutral buffered formalin
(b) &Y FT dLel/Zenker’s fluid

() 9@ & dRe/Bouin’s fluid

(d) AR FT aA/Carnoy’s fluid
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